P26.1  (a) Q=CAV =(400x107 F)(12.0 V)= 48010 C=[48.0 ,C |

(b) Q=CAV = (400 x10™ F)(1.50 V)=6.00x 104 C =
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P26.16  (a) Capacitors in parallel add. Thus, the equivalent capacitor has a value of
Coq=Cy +Cy =500 pF+12.0 4F =| 17.0 pF |.
(b) The potential difference across each branch is the same and equal to the voltage of the
battery.
-

) Qs =CAV =(5.00 £F)(9.00 V) =[ 45.0 .C |

and Q;; =CAV = (120 4F)(9.00 V)=[108 4C :
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In series capacitors add as
L
Coy
and

The charge on the equivalent capacitor is

Each of the series capacitors has this same charge on jt.
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Qu =C AV =(3.53 4F)(9.00 V) =318 4C.
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The potential difference across each is AV
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Q=CAV =(5.96 uF)(15.0 V)= on 20.0 uF
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C ™ 200 4F
15.0-4.47=1053 V

Q=CAV =(6.00 4F)(10.53 V)= on 6.00 .F

89.5-63.2=| 263 ¢ | on 150 uF and 3.00 uF
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